HowTo. PLATINUM WALL
sseevaue 2 DOOR CABINET g

THANK YOU FOR PURCHASING YOUR PLATINUM WALL CABINET.
Please carefully read and follow these instructions to assemble your cabinet.
ENSURE PROTECTIVE EYEWEAR AND GLOVES ARE WORN WHEN ASSEMBLING THIS UNIT.

Components @)
f

@ M5x10 Screw - 28 pieces
@ M8x15 Screw + Washer - 4 pieces

(27

% @ M5x10 = 28 pcs
% (13) M8x15 = 4 pes

@ M5x10 = 28 pcs

(1) e L0 4/ TRATCO |




Howlo. PLATINUM WALL
sseeveue - 2 DOOR CABINET

Step 4

[2) e L0 4/ TRATCO |



